TMVO035 Analysis and Linear Algebra B, 2005

LECTURE 3.2

In this lecture we present analytical computation of integrals. This covers AMBS Ch 34.

1. ANALYTICAL COMPUTATION OF INTEGRALS

1.1. Primitive functions. F(x) is a primitive function of f(x) if F'(z) = f(z). Primitive
functions are not unique: F'(z) + C is also a primitive function because D(F(z) + C) = f(x).
The Fundamental Theorem of Calculus shows how to construct primitive functions and how to
compute them numerically (approximatively):

with unique solution

u@) =ua+ [ fy)dy.

a
This shows that every Lipschitz continuous function has a primitive function and that it is unique

up to a constant, which can be determined by an initial condition.
In some books the primitive function is also written as an undetermined integral:

F(z) = /f(m)dx
without integration limits. For example,
3
/ 2ldr =2 4+ C.
3
If we can find a primitive function to f (by some intelligent guess-work for example), then we can
also compute integrals of f:

b

/ab fa)de = [P(2)] = F(b) - F(a).

a
Notice that the constant disappears here.

By now we know a lot of functions and their derivatives. Then we also know a lot of primitive
functions. For example,

D cos(x) = —sin(x)
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means that — cos(z) is a primitive function of sin(z). Here is a complete list:

f(z)  F(z)
. x7‘+1
1) -y
(2) at log(lz])
H()
Q b (o))
(4) e’ e’
(5) a® log(a) (a #1)
(6) sin(x) — cos(x)
(7) cos(x) sin(x)
1
(8) cos2(2) tan(x)
1
(9) Sn2(2) — cot(z)
1

(10) arcsin (g) (a>0)

1
(11) W log(|z 4+ V'a* + a)

1 1 T
(12) 7(12 T2 g arctan (5)

Prove them by computing F’(x).

By analytical computation of integrals we mean the process of starting from known primitive
functions from the list and combining them by means of rules for integration. In this way we can
express some primitive functions by means of analytical formulas, i.e., combinations of the listed

functions.

This can be done only in simple cases. In fact, most primitive functions cannot be expressed

by such analytical formulas. For example,

F(x) :/ eV dy
0

cannot be expressed by any combination of functions in the list. But it is a very useful and
important function. Therefore it has been given a name: it is called the “error function”, erf(x) =

T 2
Jo eV dy.
The most important techniques are:

e Partial integration

Proof. (uwv) = u'v+ uv’

e Substitution of variable

b , [z=9) e B
/a Flgw))g' (y) dy = {dz W dy} - /g(a) F(2)dz = [F(z)

Proof. DF(g(x)) = f(g9(z))g'(z).

e Partial fractions. This will be explained below.
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1.2. Integration of rational functions. We want to find primitive functions of rational func-

tions f(x) = %, where p and ¢ are polynomials. We begin by considering four basic cases.

Case 1.

f) =1, F()=log(lal), =#0.
This is (2) in the list.
Proof.

L x>0
F/(x){l(—l)zl x<0
O
More generally:
1
fla)=—2, Fl@)=log(lz+al), x#-a.
The proof is similar.
Ezxample.
1
dy 1
25 = [los(ly = 3] =1os(] —21) ~ los(|  3]) = loa(2/3) = ~ loa(3/2)
0

Example. The following integral is defined only for x < 3, because we cannot integrate past x = 3.

et [1og(|y = 3))] = log(|x = 3]) — log(| — 3]) = {for = < 3}
3
= log(3 — x) —log(3) = log ( x), r < 3.
Case 2.
f(x)—# F(z) = ! ! r#—a, p=2,3
 (z+a)p’  —p+1(xt+apt’ PSS
Proof. D(z +a) Pt = (—p+1)(z +a)~P. So this is (1). O
Ezxample.
Ty 111
= — — =, z<3.
/0 (y—3)2 {y—?)}o 32 3 "
Case 3.
__ =z _ 1 2, 32
f(x) TR F(:C)—Zlog(gc +b%), b#0.
Proof.
1 1
Fl(z) ==
(z) o212
Alternatively:

x _ .2 2 22 4+b2 2,12
y =y’ +b 1/ 1 1 4
Y gy = = 24 :7[1 }
A oY {dz:dey} 3 ). zBT gl
1
2
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More generally:

T+ a 1
fz) = CET F(z) = ilog((x—i—a)Q—I—bQ), b #£0.
Case 4.
1 1 T
f(l’) = m, F(.T) = g arctan (g), b 7é 0.
This is (12). More generally:
1 1 r+a
f(,r) = m, (I’) = g arctan ( b ), b 7é O

1.3. The method of partial fractions. We now demonstrate how more general rational func-
tions can be integrated analytically by decomposition into partial fractions (“partialbraksuppdel-
ning”). All rational functions can be integrated in this way but we only demonstrate the method
by some examples.

Ezample.
224z —2

fla) = 563—3;:24—33—3
Note that the degree of the nominator is 2 which less than the degree of the denominator which
is 3. The first step is to factorize the denominator by real factors. To do this we seek the roots.
By trying several z-values we find that x = 3 is a root. We divide by x = 3:

23 -3z +x -3

z—3

So the other two roots are complex, x = =i, and the denominator cannot be further factorized by
real factors. We now have

=22 +1

(@) 2+ —2 2?24 x—2 A:chB+ C
x) = = -
a3 —=3x2+x-3 (224+1)(x—-3) 22+1  x-3
The last terms are called partial fractions. We determine the coefficients by putting the partial
fractions back on a common denominator.

2 _ _ 2
Fla) = x+r—2 :Az+B+ C :(AachB)(x 3)+C(z*+1)

(@2 +1)(z-3) 2241  z-3 (@2 +1)(xz—3)

We identify the coefficients in the two nominators:

z2 A+C=1

z!: -3A+B=1

20 —-3B+C=-2
This is a system of 3 equations for 3 unknowns. The solution is A =0, B=1, C =1 so that

1 1
fz) = 2241 * Tz —3

A primitive function (Case 4 and Case 1):

F(z) = arctan(z) + log(|Jx — 3|)

Ezxample.
1 1 A B Alx—3)+ B(x—1
)= _ _ A B _Aw-3+Ba-1)
2?2 —-4x4+3 (z—1)(z—-3) =z—-1 =z2-3 (r —1)(x —3)
Identify coefficients in the nominators:
zt: A+B=0

20 —34—-B=1
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The solution is A = f%, B= % so that
1 1 1 1 1

f(m)::52+2173:_§x71+§:573

F(z) = félogﬂx —1)) + %log(\x -3|) = %log (Ix - 3|) g ( iz — 3|>

| — 1] |z — 1]

We can also determine the coefficients in a quick and easy way (“handpaldgggningsmetoden”):
1 A B

(xr—1)(x —3) :x71+x73
1 B(z—-1)
R R T Sl
r—3 T
1 Az -3)
z—1 rz—1

1
v 2

Ezxample.

Here the degree of the nominator is not less than the degree of the denominator so we begin by
dividing. In this case this can be accomplished easily as follows:

x2 22 4+20-3—-(2x -3 —2z+3
T@ = 5=~ x2+2x—(3 ):1+x2+2x—3
Partial fractions:
—2x + 3 —2z+3 A B Ax+3)+ B(zx —1)
m2+2m—3:(x—1)(x+3):x—1+x+3: (x —1)(x+3)

Identify coefficients in the nominators:
2t A+B=-2
2% 34—-B=3

The solution is A = i, B= f% Quick method:

—2r+3 _ A L B
(z—1)(z+3) x—-1 x+3
—22 43 Bz —1) 1
743 z+3 " 4
-2
$+3:A($+3)+B, x:—3:>B:—g
r—1 r—1 4
so that
22 1 1 9 1
- v {4+ _— -
f(@) 2+ 22 —3 +43@—1 4x+3

1 9
F(z)=2+ Zlog(\x —1)) - 1 log(|z + 3])

Example. If a factor is repeated in the denominator then we must repeat it in the partial fractions:
1 Ax+ B C D
f@) = (2 +1)(z — 3)? RS +:1773 + (x —3)2
(Az + B)(x — 3)2 + C(2® + 1)(z — 3) + D(2? + 1)
(2 +1)(x —3)?
(Ax + B)(2? — 62 +9) + C(22 + 1)(z — 3) + D(2® + 1)
(x2+1)(z — 3)2
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We identify the coefficients in the two nominators:

3 A+C=0
z? ~6A+B-3C+D=0
z!: 9A - 6B+ C =0
20 9B—-3C+D=1

This system is too large to be solved by hand so I use MATLAB:
> A=[1010; 61-31; 9-610; 09 -31]
>> b=[0;0;0;1]

>> c=A\b
The result is c=[0.06; 0.08; -0.06; 0.1],ie., A= 135, B= 155, C = —105, D = i, so that
Fa) = 6 = 8 1 6 1 .1 1
YT 10022 +1 11002211 1002 —3 ' 10 (z - 3)2
3 8 6 11
F(z) = —log(z? + 1) + — arct - —1 -3) - —
() 100 og(z” + )+100arc an(x) 100 og(lz — 3|) 073

This is Case 2, Case 4, Case 1, and Case 3.

Ezample.
1
1@ = i 13
The roots of the denominator are complex: —2 + 3i, so it cannot be factorized with real factors.
Instead we complete the square so that we can use Case 4:

f(z) : ! .
) = = =
22+46+13  (z+2)2-44+13 (2+2)2%249
1 T+ 2
Fo = S (39
(z) 5 arctan ( —
Ezxample. Find a primitive function to the function:
1
fl@) = x3 — 222 + 2z
Solution:
1 1 Az + B C
fl@) = — 2 =2 = 2 +
23 =222 +2x (22-2z+2)x (z—1)2+1 =z
el b e
C(x—1)241 . (z—-1)2+1 x
1 z-1 1 1 11
== +z +:=

2(x—1)24+1 2(x—-1)2+1 2=z
1 1 1
F(z) = ~1 log((z —1)* +1) + 3 arctan(z — 1) + 3 log(|z|)

/stig



